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{4, 6, 8, 3, 9, 6, 7, 6, 4}
Make a box­and­whisker plot7.

5. How many cherry trees 
are in this histogram?

The median is between 
what 2 numbers?

6.

1. Can you find the mean?  If so, what is it?

2. Can you find the median?  If so, what is it?

3. Can you find the mode?  If so, what is it?

4. Can you find the range?  If so, what is it?

Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question

Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question

EQ:

Warm Up

Page Page

Week 2, Lesson 1

Warm­up:  Answer the following questions.
Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up

Can I compare measures of center and spread of data?

10 11

(S­ID.2)
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Activity:
1.

2.

Measure your hand (in.).
­ Round to the nearest quarter of an inch and write it in 
decimal form.

Complete the chart on the board with your data.

3. Wait for directions on how to enter this data into your calculator.

4. Find mean and median on the calculator.

5. Make box­and­whisker plots for both on the 
calculator.

6. Make histograms for both on the calculator.

(Copy this chart into your notebook)
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Chart on board:

Boy's (cm.) Girl's (cm.)
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ICA: Data Set A
Data Set B

1. Which data set has a greater median and how much 
bigger is it?

2. Which data set has a greater range and how much 
bigger is it?

A: B:

3. Which data set's mean is higher?

4. Which data set's median is higher?

5. Which data set's mode is higher?

6. Which data set's range is higher?
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Spiral Review  Spiral Review  Spiral Review  Spiral Review  Spiral Review  Spiral Review  Spiral Review  Spiral Review  Spiral Review  Spiral Review  Spiral Review  Spiral Review
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1. A box­and­whisker plot was made from some data. 
Find: median:

range:
upper quartile:
lower quartile:

Explain why you can't find the mode or the mean.

(S­ID.1)
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Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question

Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question

EQ:

Warm Up

Page Page

Week 2, Lesson 2

Warm­up:  
Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up

12 13
How do outliers affect the shape, center and spread of data? (S­ID.3)

S­ID.1 and S­ID.2 QUIZ
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Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes

Summary:

S­ID.3

Outliers & Standard Deviation

Outlier:

Standard Deviation:
The average distance between the data and the mean.

Finding standard deviation with the calculator:
1.  Make a list
2.  Add Calculator
3.  Press Menu, Statistics, Stat Calculations, One Var. Stats
4.  # of lists = 1... x1 list = column name
5.  Press Enter

Outliers affect:
  1.  __________________

  2.  __________________

  3.  __________________

Examples:
{4, 5, 4, 3, 4, 5, 6, 4} {4, 11, 2, 26, 5, 10, 9, 2}

mean: _________

standard deviation: __________

mean: _________

standard deviation: __________

standard deviation

Is the number that is the "outsider". The 
number does not seem to fit the rest of the data.
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ICA:
Look at the following data set:  {4, 12, 9, 21, 18, 45, 6, 17}

1. Determine the outlier.

2. How does the outlier affect the mean?

3. How does the outlier affect the median?

4. How does the outlier affect the standard deviation?
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ICA:
3, 4, 6, 8, 8, 12, 13, 15, 17, 22

Find: mean: ________________
median: ______________
mode: ________________
range: ________________
standard deviation: ______

Make a box­and­whisker plot
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Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question

Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question

EQ:

Warm Up

Page Page

Week 2, Lesson 3

Warm­up:
Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up

14 15

1.  Update grade graph (pg. 4)
2.  Questions on quizzes

How do outliers affect the shape, center and spread of data? (S­ID.3 & S­ID.5)
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Symmetric

Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes  Notes

Summary:

S­ID.3 Ages for 100 U.S. Senators in 2011 are shown below.

Dot Plots & Skewed Data

Age 20­29 30­39 40­49 50­59 60­69 70­79 80­89 90­99

Frequency 2 4 8 9 6 0 1 1

Create a dot plot of the data:

30
­39

40
­49

50
­59

60
­69 70
­79

80
­89

20
­29

90
­99

x
x

x
x
x

x x
x
x
x

xxx

Skewed to the Right

x
x
x
x

x
x

x
x
x
x

x
xx

Skewed to the Left
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ICA:

Did more males or females go to this movie?

Did more male or female adults go to this movie?

How many children attended this movie?

1.

2.

3.

Complete the table that describes how freshmen get to school.

4.What is the most preferred method of 
transportation for freshmen?

5. What is the least preferred method of 
transportation for female freshmen?

6. Do more males or females walk to 
school?

(S­ID.5)
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ICA:
34 76 89 58 95

74 81 52 98 74

72 71 64 68 22

The following table shows a group of students' quiz scores.

1.Make a dot plot.  (How could we easily turn this into a 
histogram?)

21­
30

31­
40

41­
50

51­
60

61­
70

71­
80

81­
90

91­
100

2. Find
  mean: ________
  median: ________
  mode: ________
  range: ________
  standard deviation: ________

3. Is there an outlier?  If 
so, what is it?

4.Explain how the outlier 
affects mean and 
standard deviation.

5. Make a box­and­whisker plot that represents 
the data.

20 30 40 50 60 70 80 90 100

6. Compare the box­and­whisker plot above to 
another class' data below.

20 30 40 50 60 70 80 90 100

a.  Who has a higher median?

b.  Who has a smaller range?
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Write a summary on your notes.
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Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question

Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question Essential Question

EQ:

Warm Up

Page Page

Week 2, Lesson 4

Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up  Warm­up
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ALG 2 ­ Unit 4 Test Review.doc
The kids should do questions 1 ­ 10.  That should be 
enough but we may want to leave a fun activity for extra 
credit in case they finish early.


Algebra 2:  Unit 4 Review 
Name ______________________________________


Data Analysis
Period _______________   Date _________________




I. S-ID.1   Learning Target: I can choose appropriate graphical representation for collected data. I can interpret data shown in various data representations (dot plots, histograms, and box plots).

1.   Danny created the box-and-whisker plot below to display the number of laps around the track the boys ran in P.E. 

[image: image11.emf]1–20 21–40 41–60 61–80


Pieces of candy


Frequency


1


2


3


4


5


6


7


8


9


10




Part A: Find the number of laps used to create the box-and-whisker plot, or explain why it’s not possible to determine that from a box-and-whisker plot.

Part B: Find the range of the scores used to create the box-and-whisker plot, or explain why it’s not possible to determine that from a box-and-whisker plot.

Part C: Find the mode of the scores used to create the box-and-whisker plot, or explain why it’s not possible to determine that from a box-and-whisker plot.


2. Roger created the histogram below to display the number of pieces of candy in jars.

              Pieces of Candy in Jars

             
[image: image2]

Part A: Explain how to determine, or why you cannot determine, the number of pieces he used to create the histogram.

Part B: Explain how to determine, or why you cannot determine, the range of the number of pieces he used to create the histogram.

Part C: Can you determine the median of Roger’s pieces of candy?  If so, what is it? If you cannot find the exact median, determine the narrowest interval within which you know the median must lie.


II. S-ID.2 Learning Target: I can compare data sets and find the mean, median, and mode. 

3.   The box-and-whisker plot shows the number of men and women enrolled in a Psychology class.  Which data set has a greater median? About how much greater is the median of that data set?

[image: image1.emf]0 2 4 6 8 1012141618202224 0


[image: image3.emf]0 2 4 6 8 101214161820222426283032 0




A. Men have a greater median by about 6 students.

B. Men have a greater median by about 4 students.

C. Women have a greater median by about 8 students.

D. Women have a greater median by about 2 students.

                                              Answer: ___________


4.  Which of the following is true about these two data sets?

           {10, 11, 12, 12, 13, 14, 15} 

           {25, 26, 27, 28, 29, 29, 30}

A. The medians are equal.


B. The ranges are equal.


C. The means are equal.


D. The variances are equal.


                                              Answer: ___________

5.  The double box-and-whisker plot shows the average prices of shirts at two different department stores. What is the range for each store?


[image: image4.emf]253035404550556065707580




A. Dillard’s = 55; Macy’s = 40

B. Dillard’s = 40; Macy’s = 45

C. Dillard’s = 45; Macy’s = 40

D. Dillard’s = 55; Macy’s = 30

                                              Answer: ___________

III.   S-ID.3:  Learning Target:  I can use shape, center, and the spread to describe characteristics of the data set. I can understand the effects of outliers on a data set.

6. 
Identify the outlier in the data set                      {10, 11, 13, 30, 14, 15, 16, 17}  and determine how the outlier affects the following:

Outlier: _____________


Affect the mean? __________________________


_________________________________________


_________________________________________


Affect the median?_________________________


__________________________________________


__________________________________________


Affect the mode? __________________________


_________________________________________


_________________________________________


Affect the range? __________________________


_________________________________________


_________________________________________

7.   Average prices for 25 different airline tickets from Phoenix to California are shown.

Make a dot plot of the data and explain what the distribution means.

Average Suggested Retail Prices, 2012 


Airline Tickets

		150-199

		200-249

		250-299

		300-349

		350-399



		6

		10

		8

		0

		1
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     x   
          x
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x
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          x


x
     x
          x
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          x
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     x
          x
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     x
          x
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     x  
          x


x

		 

		

A.  This data distribution is skewed to the left. 

Most tickets cost less than the mean.

B.  The data distribution is skewed to the right.  Most tickets cost more than the mean.


C.  The data distribution is skewed to the right.  Most tickets cost less than the mean.





		

		



		

		





                                           Answer: ___________

8.   The number of fans at a book signing on randomly selected days is listed. Identify the outlier, and describe how it affects the mean and the standard deviation. 


		5

		20

		25

		30

		35

		40



		22

		24

		26

		28

		30

		32



		34

		36

		38

		40

		21

		22





Outlier: _____________


Affect the mean? __________________________


_________________________________________


_________________________________________


Affect the Standard Deviation? ______________


__________________________________________


__________________________________________


IV.  S-ID.5  Learning Target: I can summarize categorical data for two categories in two-way frequency tables. Interpret relative frequencies in the context of the data.    

9.  At a high school, the students have a choice of pizza or hot lunch. Do more people prefer pizza or hot lunch? Do more people under 16 prefer pizza or hot lunch?

		

		Pizza

		Hot Lunch

		Total



		Under 16

		1000

		500

		1500



		16 or older

		750

		250

		1000



		Total

		1750

		750

		2500





A. More people prefer pizza. However, more people under 16 prefer hot lunch.

B. More people prefer hot lunch. Also, more people under 16 prefer hot lunch.

C. More people prefer hot lunch. However, more people under 16 prefer pizza.

D. More people prefer pizza. Also, more people under 16 prefer pizza.

                                              Answer: ___________

10. The table shows the number of students participating in performing arts at a local school.

[image: image5.png]Chorus | Theater | Dance | Total

Juniors | 87 41 67 | 195

Seniors | 130 33 100 | 263
Total | 217 7 167 | 458







Part A: How many juniors are in performing arts?

Part B: Which class is least preferred by seniors?

Part C: Which class is most preferred by juniors?

V.   S-ID.6  Learning Target: I can create and use a scatter plot. I can use best-fit functions to solve problems related to the data. I can create best-fit lines and use the residual to analyze the best-fit line.

11. The scatter plot shows the relationship between the amount of funds raised and the number of participants in the fundraiser at the Family House organization branches.
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Part A:  Based on this relationship, predict what the total money raised will be when 18 people participate.


Part B:  What type of correlation (if any) is there between money raised and the number of participants?


Part C:  Is the line on the graph a line of best fit?  Why or why not?

12. In the table, x represents the number of hours you have worked at a beauty salon and y represents the number of dollars you have made in tips.

		x

		1

		2

		3

		4

		5

		6

		7

		8



		y

		10

		15

		25

		30

		35

		40

		50

		70





Part A:  Construct a scatter plot of the values in the table. 

[image: image7.png]





Part B:  Draw the line of best fit for the points you graphed. Use the coordinate plane above and show your line clearly using a straight-edge.


Part C:  What type of correlation (if any) is there between hours worked and money (in tips) you’ve earned?


VI.   S-ID.7 Learning Target: I can write a linear function of a best-fit line.

13. What is the equation of the line of best fit you created in the scatter plot in problem #12?

14. Tara creates a budget for her weekly expenses. The graph shows how much money is in the account at different times. Find the slope and y-intercept of the line. Then explain what they mean in this real-world context.

[image: image8.emf]Time (weeks)
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(4, 2400)


2 4 6 810121416182022
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500
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1000
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1500
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        Slope: _________    Y-Int: ___________

Meaning: _________________________________


__________________________________________

__________________________________________


__________________________________________


VII. S-ID.8    Using technology I can compute and then interpret the correlation coefficient of a linear fit.

15. You find a line of fit for a set of data and calculate that the correlation coefficient for the model is     0.50. Which statement best describes the fit of the model to the data?


A. The correlation coefficient suggests a strong positive correlation, so this model is a good fit for the data.

B. The correlation coefficient suggests a weak positive correlation, so this model is a not a good fit for the data.

C. The correlation coefficient suggests a weak negative correlation, so this model is a not a good fit for the data.


D. The correlation coefficient suggests a strong negative correlation, so this model is a good fit for the data.


                               Answer: ___________

16. Find the approximate correlation coefficient for a linear model for the data.

                       [image: image9.png]





A. 0.8


B. 0


C. -0.8


D. -1


                                             Answer: ___________

VIII. S-ID.9 Learning Target: I can distinguish between correlation and causation.

17.   Given the following statement:  


The age of a person and his/her height.

Part A: Is there a correlation between the two quantities? Explain. 


Part B: Is there a cause-and-effect (causal) relationship between the two quantities? Explain.

18. The table below shows the prices of a small popcorn and a small soda at eight different movie theaters.

		Price of Small Popcorn

		$4.50

		$4.75

		$5.00

		$6.50

		$4.50

		$7.50

		$5.00

		$5.25



		Price of Small Soda

		$2.50

		$3.00

		$3.25

		$4.00

		$2.75

		$3.50

		$3.00

		$3.50





Part A: Is there a positive or negative correlation between the two variables? Explain.

Part B: Is there a cause-and-effect between the price of a popcorn and the price of a small soda? Explain.

[image: image10.png]16






Men



Women







Dillard’s



Macy’s







150-199	    200-249         250-299        300-349        350-399











Algebra 2:  Unit 4 Test Review
1/8/13
PUHSD Algebra Curriculum Team

Algebra 2:  Unit 4 Test Review
1/8/13 
PUHSD Algebra Curriculum Team



SMART Notebook



Attachments

ALG 2 ­ S­ID.1 Recovery Quiz.docx

ALG 2 ­ S­ID.2 Recovery Quiz.docx

ALG 2 ­ S­ID.3 Activity.docx

ALG 2 ­ Unit 4 Test Review.doc


Name: ____________________________________________________________  Period: ___________



S-ID.1 Quiz



I.  S-ID.1   Learning Target: I can choose appropriate graphical representation for collected data. I can interpret data shown in various data representations (dot plots, histograms, and box plots).



Don created the box-and-whisker plot below to display the number of points scored by Michael in his basketball games.

[image: http://www.ck12.org/flx/show/image/user%3AYmdyZWVyQG1pdGFjYWRlbXkub3Jn/M7-11.04.12.png-201207201342833558106353.png]

1.  Can you find the range of the scores?

a. Yes

b. No



2. What is the range?

a. 2

b. 3.5

c. 6

d. The range cannot be determined.



3. Can you find the mode of the scores?

a. Yes

b. No



4. What is the mode?

a. 7

b. 8

c. 10

d. The mode cannot be determined.





Jerry created the histogram below to display the heights of his classmates.
[image: http://www.math.kent.edu/~honli/teaching/statistics/Chapter2/Excell_Histogram_files/Histogram4.JPG]

5.  How many students are in Jerry’s class?

a. 10	

b. 65	

c. 24

d. 25



6. Can you determine the precise median of the heights?

a. Yes

b. No



7. Which is the narrowest interval within which you know the median must lie?

a. 64 – 66 in 

b. 62 – 68 in 

c. 62 – 64 in 

d. There is no way of determining an interval in which the median lies.
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Name: ____________________________________	                     Name: ___________________________________

Period: _________	                                                                     Period: ________



                              S-ID.2 Quiz	                                                                                         S-ID.2 Quiz



S-ID.2 Learning Target: I can compare data sets and find the mean, median, and mode.

 (
Laveen
) (
Trailside
)1.  The double box-and-whisker plot shows the average scores from basketball games from Trailside Elementary School (top) and Laveen Elementary School (bottom). Which data set has a greater median? About how much greater is the median of that data set?[image: ]



A. Trailside has a greater median by about 2 days.

B. Trailside has a greater median by about 3 days.

C. Laveen has a greater median by about 2 days.

D. Laveen has a greater median by about 1 day.





2.  The box-and-whisker plot shows the lifespan, in days, of two different brands of 60-watt light bulbs.  What is the range for each lifespan?

 (
Luminate
) (
Glo-Brite
)[image: ]

A.  Glo-Brite = 140; Luminate = 120

B.  Glo-Brite = 80; Luminate = 70

C.  Glo-Brite = 130; Luminate = 130

D.  The range cannot be determined.









S-ID.2 Learning Target: I can compare data sets and find the mean, median, and mode.

 (
Laveen
) (
Trailside
)1.  The double box-and-whisker plot shows the average scores from basketball games from Trailside Elementary School (top) and Laveen Elementary School (bottom). Which data set has a greater median? About how much greater is the median of that data set?[image: ]



A. [bookmark: _GoBack]Trailside has a greater median by about 2 days.

B. Trailside has a greater median by about 3 days.

C. Laveen has a greater median by about 2 days.

D. Laveen has a greater median by about 1 day.





2.  The box-and-whisker plot shows the lifespan, in days, of two different brands of 60-watt light bulbs.  What is the range for each lifespan?

 (
Luminate
) (
Glo-Brite
)[image: ]

A.  Glo-Brite = 140; Luminate = 120

B.  Glo-Brite = 80; Luminate = 70

C.  Glo-Brite = 130; Luminate = 130

D.  The range cannot be determined.
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Name: _____________________________________ Period: __________

S-ID.3 Activity

The Unit 4 Exam that is coming up has 8 standards on it (S-ID.1, S-ID.2, S-ID.3, S-ID.5, S-ID.6, S-ID.7, S-ID.8, S-ID.9).  The following chart shows the scores that you received on each standard.

		S-ID.1

		S-ID.2

		S-ID.3

		S-ID.5

		S-ID.6

		S-ID.7

		S-ID.8

		S-ID.9



		90%

		87%

		85%

		92%

		88%

		79%

		94%

		92%







1.  Find the mean: 	2.  Find the median: 

3.  Find the mode: 			4.  Find the range: 



Next, let’s go back in time.  On the day that we learned S-ID.3, let’s say you didn’t pay attention in class and didn’t do the work so your scores actually looked like this:

		S-ID.1

		S-ID.2

		S-ID.3

		S-ID.5

		S-ID.6

		S-ID.7

		S-ID.8

		S-ID.9



		90%

		87%

		8%

		92%

		88%

		79%

		94%

		92%







1.  Find the new mean: 	2.  Find the new median: 

3.  Find the new mode: 			4.  Find the new range:

Is the “new mean” a good measure of how you did on the test overall?  Explain why or why not?

______________________________________________________________

______________________________________________________________

______________________________________________________________

______________________________________________________________

Name: _____________________________________ Period: __________

S-ID.3 Activity

The Unit 4 Exam that is coming up has 8 standards on it (S-ID.1, S-ID.2, S-ID.3, S-ID.5, S-ID.6, S-ID.7, S-ID.8, S-ID.9).  The following chart shows the scores that you received on each standard.

		S-ID.1

		S-ID.2

		S-ID.3

		S-ID.5

		S-ID.6

		S-ID.7

		S-ID.8

		S-ID.9



		90%

		87%

		85%

		92%

		88%

		79%

		94%

		92%







1.  Find the mean: 	2.  Find the median: 

3.  Find the mode: 			4.  Find the range: 



Next, let’s go back in time.  On the day that we learned S-ID.3, let’s say you didn’t pay attention in class and didn’t do the work so your scores actually looked like this:

		S-ID.1

		S-ID.2

		S-ID.3

		S-ID.5

		S-ID.6

		S-ID.7

		S-ID.8

		S-ID.9



		90%

		87%

		8%

		92%

		88%

		79%

		94%

		92%







1.  Find the new mean: 	2.  Find the new median: 

3.  Find the new mode: 			4.  Find the new range:

[bookmark: _GoBack]Is the “new mean” a good measure of how you did on the test overall?  Explain why or why not?

______________________________________________________________

______________________________________________________________

______________________________________________________________

______________________________________________________________
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Name ______________________________________


Data Analysis
Period _______________   Date _________________




I. S-ID.1   Learning Target: I can choose appropriate graphical representation for collected data. I can interpret data shown in various data representations (dot plots, histograms, and box plots).

1.   Danny created the box-and-whisker plot below to display the number of laps around the track the boys ran in P.E. 

[image: image11.emf]1–20 21–40 41–60 61–80
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Part A: Find the number of laps used to create the box-and-whisker plot, or explain why it’s not possible to determine that from a box-and-whisker plot.

Part B: Find the range of the scores used to create the box-and-whisker plot, or explain why it’s not possible to determine that from a box-and-whisker plot.

Part C: Find the mode of the scores used to create the box-and-whisker plot, or explain why it’s not possible to determine that from a box-and-whisker plot.


2. Roger created the histogram below to display the number of pieces of candy in jars.

              Pieces of Candy in Jars

             
[image: image2]

Part A: Explain how to determine, or why you cannot determine, the number of pieces he used to create the histogram.

Part B: Explain how to determine, or why you cannot determine, the range of the number of pieces he used to create the histogram.

Part C: Can you determine the median of Roger’s pieces of candy?  If so, what is it? If you cannot find the exact median, determine the narrowest interval within which you know the median must lie.


II. S-ID.2 Learning Target: I can compare data sets and find the mean, median, and mode. 

3.   The box-and-whisker plot shows the number of men and women enrolled in a Psychology class.  Which data set has a greater median? About how much greater is the median of that data set?

[image: image1.emf]0 2 4 6 8 1012141618202224 0


[image: image3.emf]0 2 4 6 8 101214161820222426283032 0




A. Men have a greater median by about 6 students.

B. Men have a greater median by about 4 students.

C. Women have a greater median by about 8 students.

D. Women have a greater median by about 2 students.

                                              Answer: ___________


4.  Which of the following is true about these two data sets?

           {10, 11, 12, 12, 13, 14, 15} 

           {25, 26, 27, 28, 29, 29, 30}

A. The medians are equal.


B. The ranges are equal.


C. The means are equal.


D. The variances are equal.


                                              Answer: ___________

5.  The double box-and-whisker plot shows the average prices of shirts at two different department stores. What is the range for each store?


[image: image4.emf]253035404550556065707580




A. Dillard’s = 55; Macy’s = 40

B. Dillard’s = 40; Macy’s = 45

C. Dillard’s = 45; Macy’s = 40

D. Dillard’s = 55; Macy’s = 30

                                              Answer: ___________

III.   S-ID.3:  Learning Target:  I can use shape, center, and the spread to describe characteristics of the data set. I can understand the effects of outliers on a data set.

6. 
Identify the outlier in the data set                      {10, 11, 13, 30, 14, 15, 16, 17}  and determine how the outlier affects the following:

Outlier: _____________


Affect the mean? __________________________


_________________________________________


_________________________________________


Affect the median?_________________________


__________________________________________


__________________________________________


Affect the mode? __________________________


_________________________________________


_________________________________________


Affect the range? __________________________


_________________________________________


_________________________________________

7.   Average prices for 25 different airline tickets from Phoenix to California are shown.

Make a dot plot of the data and explain what the distribution means.

Average Suggested Retail Prices, 2012 


Airline Tickets
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A.  This data distribution is skewed to the left. 

Most tickets cost less than the mean.

B.  The data distribution is skewed to the right.  Most tickets cost more than the mean.


C.  The data distribution is skewed to the right.  Most tickets cost less than the mean.





		

		



		

		





                                           Answer: ___________

8.   The number of fans at a book signing on randomly selected days is listed. Identify the outlier, and describe how it affects the mean and the standard deviation. 


		5

		20

		25

		30

		35

		40



		22

		24

		26

		28

		30

		32



		34

		36

		38

		40

		21

		22





Outlier: _____________


Affect the mean? __________________________


_________________________________________


_________________________________________


Affect the Standard Deviation? ______________


__________________________________________


__________________________________________


IV.  S-ID.5  Learning Target: I can summarize categorical data for two categories in two-way frequency tables. Interpret relative frequencies in the context of the data.    

9.  At a high school, the students have a choice of pizza or hot lunch. Do more people prefer pizza or hot lunch? Do more people under 16 prefer pizza or hot lunch?

		

		Pizza

		Hot Lunch

		Total



		Under 16

		1000

		500

		1500



		16 or older

		750

		250

		1000



		Total

		1750

		750

		2500





A. More people prefer pizza. However, more people under 16 prefer hot lunch.

B. More people prefer hot lunch. Also, more people under 16 prefer hot lunch.

C. More people prefer hot lunch. However, more people under 16 prefer pizza.

D. More people prefer pizza. Also, more people under 16 prefer pizza.

                                              Answer: ___________

10. The table shows the number of students participating in performing arts at a local school.

[image: image5.png]Chorus | Theater | Dance | Total

Juniors | 87 41 67 | 195

Seniors | 130 33 100 | 263
Total | 217 7 167 | 458







Part A: How many juniors are in performing arts?

Part B: Which class is least preferred by seniors?

Part C: Which class is most preferred by juniors?

V.   S-ID.6  Learning Target: I can create and use a scatter plot. I can use best-fit functions to solve problems related to the data. I can create best-fit lines and use the residual to analyze the best-fit line.

11. The scatter plot shows the relationship between the amount of funds raised and the number of participants in the fundraiser at the Family House organization branches.
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Part A:  Based on this relationship, predict what the total money raised will be when 18 people participate.


Part B:  What type of correlation (if any) is there between money raised and the number of participants?


Part C:  Is the line on the graph a line of best fit?  Why or why not?

12. In the table, x represents the number of hours you have worked at a beauty salon and y represents the number of dollars you have made in tips.

		x

		1

		2

		3

		4

		5

		6

		7

		8



		y

		10

		15

		25

		30

		35

		40

		50

		70





Part A:  Construct a scatter plot of the values in the table. 

[image: image7.png]





Part B:  Draw the line of best fit for the points you graphed. Use the coordinate plane above and show your line clearly using a straight-edge.


Part C:  What type of correlation (if any) is there between hours worked and money (in tips) you’ve earned?


VI.   S-ID.7 Learning Target: I can write a linear function of a best-fit line.

13. What is the equation of the line of best fit you created in the scatter plot in problem #12?

14. Tara creates a budget for her weekly expenses. The graph shows how much money is in the account at different times. Find the slope and y-intercept of the line. Then explain what they mean in this real-world context.
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        Slope: _________    Y-Int: ___________

Meaning: _________________________________


__________________________________________

__________________________________________


__________________________________________


VII. S-ID.8    Using technology I can compute and then interpret the correlation coefficient of a linear fit.

15. You find a line of fit for a set of data and calculate that the correlation coefficient for the model is     0.50. Which statement best describes the fit of the model to the data?


A. The correlation coefficient suggests a strong positive correlation, so this model is a good fit for the data.

B. The correlation coefficient suggests a weak positive correlation, so this model is a not a good fit for the data.

C. The correlation coefficient suggests a weak negative correlation, so this model is a not a good fit for the data.


D. The correlation coefficient suggests a strong negative correlation, so this model is a good fit for the data.


                               Answer: ___________

16. Find the approximate correlation coefficient for a linear model for the data.

                       [image: image9.png]





A. 0.8


B. 0


C. -0.8


D. -1


                                             Answer: ___________

VIII. S-ID.9 Learning Target: I can distinguish between correlation and causation.

17.   Given the following statement:  


The age of a person and his/her height.

Part A: Is there a correlation between the two quantities? Explain. 


Part B: Is there a cause-and-effect (causal) relationship between the two quantities? Explain.

18. The table below shows the prices of a small popcorn and a small soda at eight different movie theaters.

		Price of Small Popcorn

		$4.50

		$4.75

		$5.00

		$6.50

		$4.50

		$7.50

		$5.00

		$5.25



		Price of Small Soda

		$2.50

		$3.00

		$3.25

		$4.00

		$2.75

		$3.50

		$3.00

		$3.50





Part A: Is there a positive or negative correlation between the two variables? Explain.

Part B: Is there a cause-and-effect between the price of a popcorn and the price of a small soda? Explain.

[image: image10.png]16
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